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Time Allowed : 2 Hours Maximum Marks : 80

Note : This paper is of Eighty (80) marks divided
into Two (02) sections A and B. Attempt the
question contained in these sections according
to the detailed instructions given therein.
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Section-A/@US- ‘&’
(Long Answer type Questions/a® 3TT T)

Note : Section-‘A’ contains Five (05) Long answer
type questions of Twenty (20) marks each.

Learners are required to Answer any two (02)
Questions only. (2x20=40)
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1. The following is the Capital structure of Rajeev

Ltd. as on 31st December, 2018 :

Teia fafids @1 st @fan 31 fegwr, 2018 =i
91 g o

T (Rs.)

80,000 equity shares Rs. 100 each 80,00,000
THAT Y 80,000 THF HT TH

qcda 100 2.
Reserve Fund and Surplus 20,00,000
Hfad &Y Tg AR
7% cumulative preference shares

of Rs. 100 each 50,00,000
7% Gedl AYHM 39 Y&AF I
|4 7T 100 %
6% secured debentures of

Rs. 100 each 50,00,000
6% T T TAE

qH 7T 100 =
Total Capitalisation 2,00,00,000

e ISR
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The Company earns 10% E.B.LT. on its

capitalisation. It pays tax @ 50%. The company

is planning to go in for an expansion programme.

The cost of this project is Rs. 15 lakhs. The

company could raise Rs. 50 lakhs through any of

these alternatives :

(i)  Issue of 40,000 equity shares @ Rs. 125
each.

(ii)) Issue of 8% preference shares of Rs. 100
each.

(iii) Issue of 7% secured debentures of Rs. 100

each.

The Company hope toearn E.B.I.T. @10% on New
investment. Suggest the Financing alternative
to be used.

FEAT USITeRT0T T 10% SaeTE. S Yt
&1 SHH T R 50% T HEE Tk IR FHrEiwy
1 iAW 2, 39 9REsA &1 @rd . 50
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(i) 8% AN YW Yfd AW & 100 S
Fh |

(i) 7% GUA&d BUOA Ufd RO % 100 SN
Fh |
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2. The management of a company is considering

a proposal to purchase a New Machine. In the
Market two machine A and B are available, each
costing Rs. 10 lakh and each having an estimated
life span of 5 years. Annual cash inflows from the

machines are estimated to be as follows :

Teh HHOH] Ge-4hl & HHE Teh T A R H
#1 y&ae foemeE €, SR o ‘T g ‘=
3o Suersd € f5H 9 wee 1 ged 10,00,000
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T €1 TIHl @ eH ol ot ek ware

TR 7:
Estimated Cash Inflows
STTHIAT Uehg Yelle
Year Machine ‘A’ Machine ‘B’
Y i A a3 B’
1 3,00,000 NIL
2 4,00,000 4,00,000
3 5,00,000 4,50,000
4 3,00,000 6,00,000
5 2,00,000 4,50,000

A discount rate of 10% is used for calculating the
present value of future cash flow. The present
value of Rs. 1 @ 10% per annum are 0.909, 0.826,
0.751,0.683 and 0.621 at the end of First, Second,
Third, Fourth and Fifth year respectively.
Using the following methods you have to suggest
as to which of the two machines will be more
profitable.

(a) Discounted pay-back period.

(b) The present value method.
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3. What is meant by Working Capital ? What

are permanent and variable working capital ?
How should working capital requirement be

Financed ?

Rt Yot 1w o1ef 87 Torlt 9 ufedeie
Fredsiict ISt o1 22 el dofl sTavaeharet w1

ford el g YR BHT =TfeT?

4. What is the meaning of Optimum Capital
structure ? Discuss the factors affecting Capital
structure.

SR Sl T 1 1 S B2 gl HTE
i guIfad & oTel WS FaEy|
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5.  What is a Stable Dividend Policy ? Why should
it be followed ? What can be the consequences of
changing a Stable Dividend Policy ?
feer enater Aifa 0 et 82 & Aifa & wer
Fi foren ST =nfew? feer ey Aifq &t a5em
& o1 IR B Gehd €7

Section-B/@Us-9

(Short answer type questions/ T AT T9H)

Note : Section-B Contains Eight (08) Short answer
type questions of Ten (10) marks each.
Learners are required to Answer any four
(04) questions only. (4x10=40)

qe ;. wue-‘"w' " A8 (08) &Y IuH U¥A fIw M
2, Y% Y¥T & fou 59 (10) 3w fuifa 2
forenfera &t T @ Faa IR (04) T B
S| R

1. Why should a company aim at Balanced Capital

Structure ?
T AT T I Gdferd i HEET FA B
=MEq?

2.  What is the impact of issue of Bonus shares on

earning per share ?

gfd 191 3 W S99 31T & T 1 = g9
el 87
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Distinguish between Traditional and Modern
approach of Financial function.

fod @@ & 9FREA T oY faaram o
S ddlgu|

What are the Chief characteristics of a Sound
Financial Plan ?

T Yo Toria dier i qea fowand s 272
What are the components of Cost of Capital ?

What is the cost of retained earning ?

St &1 o & fafa= @ s 9 2?2 faefa
3T & AN I 27

What is Financial leverage? How is it
calculated?

g ofladst =1 €2 TEST M1 $9 HI At
27

Explain the factors affecting Dividend Policy.
AT ifd k1 garfad R 9Tl ©eeh] hi SARSAT

il

What is the importance of the Management of

Income ?
3T F Y H N Ted o7

sheskeskeskokokok
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